
 

 

Removing Stock SpeakersStep 1

emitefiL moc.scinortekib.www  9142-537-008 ytnarraW

SpecificationsKit Contents

Before After

INSTALLATION GUIDE 7.1 Speakers

A

2  -  7.1 speakers

2  -  Speaker mounts

2  -  13/16th standoffs with washers

8  -  #6-32 x 3/8” Phillips pan-head machine screw

6  -  5/16-18 nylon insert flange nut

2  -  1/4-20 x 5/8 torx socket button-head screw

Remove outer fairing. Unplug cigar lighter and speaker connectors. Remove plastic speaker 

pods. (Marker A)

FITMENT: 2014 FLH

92.6 dB/SPL

49Hz - 22kHz

120 Watts RMS / 240 Watts Peak

4 ohm rated



emitefiL moc.scinortekib.www  9142-537-008 ytnarraW

Reclaiming Speaker HarnessStep 2

Unscrew speakers from plastic pods. 

Disconnect speaker harness.

Remove speaker harness from plastic speaker pods.

Connecting the SpeakersStep 3

Attach positive and negative terminal 

leads to speaker as shown.

(-) (+)

(-) (+)



emitefiL moc.scinortekib.www  9142-537-008 ytnarraW

B

Installing New SpeakersStep 4

D

Install Biketronics speaker 

brackets using original hard-

ware (Marker B) and supplied 

locknuts (Marker C).

Install Biketronics speakers 

using 6-32 x 3/8” screws.

Reconnect speaker harness 

from bike to speakers.

(Marker D)

Finishing UpStep 5

E

Test system, then re-install 

fairing using stock hardware 

except where standoffs exist.

Install standoffs into both 

lower outer fairing mounting 

points. (Marker E)

For standoffs, use supplied 

1/4-20 x 5/8 screws.

C


